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The pass mark in a test is 65%. The test is out of 40 marks. Jimmy got
22 marks and Barry got 28 marks. Did either of them pass?

Lloyd and Harry receive some money. Lloyd gets % of the money. If
Harry receives £20 more than Lloyd, how much does Lloyd get?

The world record in the 4x100m relay is 36.84 seconds. On average,
how fast did each of the four runners take to run their 100m leg?

If you start with 2 and subtract 1% and then add on S how much do you
have? Leave your answer as a improper fraction.

Adam arrives at Diss Train Station at 6am. He catches the next train
to Liverpool Street. How long will he be on the train for?

NOEWICH Dep | Q00 (0320 [ 0330 0600 | 0630 | 055

Diizz Dep | 0518 Q3T [ DG1E | OedT | 0713
Stowrn arkat Dap (0331 ... Q558 [ OG30 | 0638 | 0725
[ESWICH Arr | 03] | 0333 | 0610 [ 0841 | 0705 | 0734

Dep | 0343 (0333 (04612 | 0642 | 0710 | 0737
Marmingtraa Cep | 0333 ... Q20| 0ad2 | 0721 | ...

COLCHESTER | Dep | 0604 | 0610 | 0632 | 0704 | 0732 | ...
Chelmsford  |[Dep | ... | ...

LIVERPOOL | Arr | 0633 | O | 021 | OT36 | 026 | OB4E
STEEET




